
LEVELWORKSHEET ANSWER KEY 5WE’LL ALWAYS HAVE SUMMER
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Model answers:

Model answers:

1 If  Conrad told Belly his true feelings, she would not agree to marry Jeremiah.

2 If  Belly were older, her mom would not be against her marriage.

3 If  Jeremiah didn’t cheat on Belly, she would not break up with him.

4 If  Susannah were still alive, she would/could help them all.

5 If  Conrad didn’t come to the wedding, Belly would marry Jeremiah.

Model answers:

Getting married: bachelor party, best man, bridesmaid, celebrate, champagne, date, diamond, 

invitation, marriage, wedding shower

Breaking up: cheat on, embarrassed, furious, hide, hook up with, put up with, selfish, stand up to

Reader’s own answer.

Reader’s own answers.
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The party where I met Lacie  

and still trusted Jeremiah.

The happiest day of  my life, when  

Jeremiah asked me to marry him!  

Or so I thought…

We were celebrating Susannah,  

so we told everybody we were  

getting married—big mistake!

“Taylor’s wedding shower”—she did it all!  

I was so happy because Mom was there.

I really love Jeremiah because he realized  

I really love Conrad and he let me go!
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